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1. Where was the headless standing statue of
Kanishka found with Kanishka’s name inscribed
at the bottom?

(1) Mathura (2) Amaravati
(3) Gandhara (4) Nagarjunakonda
(5) Question not attempted

2. In which Upanishad there is a mention of the
debate between Yagyavalkya and Gargi in the
Court of Janak?

- (1) Aitareya Upanishad

. (2) Katha Upanishad
(3) Brihadaranyaka Upanishad
(4) Mandukya Upanishad
(5) Question not attempted

3. Name the archaeologist who first pointed out the
similarities between Early Harappan Culture and
Urban Harappan Culture.

(1) Amalananda Ghosh (2) John Marshall
(3) Mortimer Wheeler (4) D.H. Garden
(5) Question not attempted |

4. Who among the following compared the
“Salt March” to Napoleon’s March to Paris?
(1) Mr. Brailsford
(2) Chittaranjan Das
(3) Subhash Chandra Bose
(4) J.L. Nehru
(5) Question not attempted -

5. The title given by the British Government to
Mahatma Gandhi which he surrendered during
the Non-cooperation Movement was -

(1) Hind Kesari -(2) Honourable ‘Sir’
(3) Kaiser-e-Hind ~ (4) Rai Bahadur
(5) Question not attempted

6. Who among the following was not a member of
the ‘Cordeliers Club of France’?

(1) Danton (2) Marat
(3) Habert (4) Robespierre =
(5) Question not attempted T
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1. o & RREN @S gkt fraa e am §
SR BT AW GeT €, PEl o wa gg o7

() TR (2) STt
NPT CERINEEIS
(5) 3rgiRa weA

2. fpg SUfeg ¥ FH B W H FEIAedd T
Tt @ 4" g7 ae—fIaR FT Seord 87
(1) YRy Jufg X
(2) Bo SufEg

| A8y gEERvES Sufg

(4) HIvgEd Sufug X
(5) FrgaRa ge= | .

3. 99 [RGBl A qargd oA we IR g
TSW WPl AR TR sl AW aﬁ

FHFARI @ Y@t |
(1) sarE |y A2 i A
(3) HifETR e (@) ST, A
(5) argeRa oo
4. famfoRea % | frem wmﬁ a%’rgam
C Toferg & aRw W | @ o
(1) 5 AeEprE
(2) RRRSH TN
AT T A
(@) Jva. AEw
(5) argeRa W |
5 faftwr WYAR gRT HEwe Wi A § v Surfy,
o, 98 off —
(1) i o (2)q'|=|:ﬁ-q'm"
AT IR-T-fR (4) T FETR K
(5) 3R we | -
6. frferied # ¥ 9 wiw @ PR w9
BT A FE]_AqT? _
(1) Se (2) iRre
8 e AR
(5) srgeRa e
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7. Name the Britisher who has called the Revolt of

1857 as a “National Rising”?

(1) W. Tayler (2) Sir James Outram
(3) T.R. Holmes
(5) Question not attempted

(4) Benjamin Disraeli

8. Sir William Jones has equated Chandragupta

Maurya as which of the following?
(1) Amitrochates '
(2) Sandrocottus
(3) Agrammes
(4) Allitrochades
(5) Question not attempted
9. The accountant in the Shivaji’s administration
was called -
(1) Surunavis

(3) Panditrao

(2) Majumdar
(4) Dabir

(5) Question not attempted

7. 39 VA BT 99 gaisy foras 1857,

8. Wy Riftrm Wi ¥ TeETa A BT G

9.
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(1) S, SoR*  ARFER O Mg,
(3) AR, BT () =TT R
() FrgaRa we ' |

= A 9 fead fear?

A EfERTE

() dvgipicy

(3) A

(ﬂqﬁ%ﬁlﬁw

(&agaﬁawa

Rl @ g § dEeR B YHRT ST
o — iy

(2) TR

10. Who served as the ‘Dome’ builder of Taj Mahal? Q9 qromEa @ g’ famtor -1 ?ﬁl'd e faar?

(1) Geronimo Veroneo (2) Ustad Isa Effendi
(3) Ustad Ahmad @ Ismail Khan
(5) Question not attempted |

11. Who founded the ‘American Philosophical
Society’? _
(1) Thomas Paine (2) Samuel Adams
(3) Benjamin Franklin (4) Patrick Henry

(5) Question not attempted

(1) g

@) dfsaRE 4] <R

(8) iR ueA

() W R (2) S ST 3B
() S JEHE  (4) S @
(5)aaaﬁﬁawr '

aﬁﬁaﬁrﬁa—erm‘ffﬂmmmﬁ'aﬁww
oo @Y o7

(1) ot O ~ (2) AT gewiX
Wafer (4 Mg e x
(5) IgaRa ue

12. Which Czar has been called ‘Czar the Liberator’ @ forer SR 31 w9 B RS AR F R

who reformed the internal system of Russia?

T B U 'SERS WR' HaT T[T 27

(1) Alexander I (2) Alexander IT (1) 3reigaivey 1 (2) 3roigaveR I
(3) Nicholas I (4) Nicholas IT (3) e 1 @) e o
(5) Question not attempted (5) srgalRa weA :

22 ¥
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13- Which of the following palr is not correctly
matched? '

(1) Bharavi - Kiratarjuniya
- (2 Vatsyayana - Panchtantra
- (3) Harishen - Prayag Prashasti .
(4) Vatsabhatti - Mandsaur Abhilekh
' (Kumargupta Iy |
(5) Question not attempted

In which session of Congress the Quit India
Movement  Resolution
August, 19427

(1) Madras Session

14.

was passed in

(2) Poona Session

(3) Bombay Session  (4) Nagpur Session

~ (5) Question not attempted

15. Name the women disciples of Ramananda who -

- carried away his message from door to door after -
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~

13, fe & T I PR T 22

(1)qﬂﬁ-—ﬁﬂ1mﬁj.:ﬁ-q

(@ R — ST SRR

(@) T — R e (GARe )
(5) argeRal o

14. B gRT 3T, 19423#%«31&:%@“5%

BT Sriaer BT R IR garr?

() 7o afdeE (@) T S
_A3rad ot (@) TR e

(5) SrgaRe e

15. ymq @S9 Afeenr Rl &1 @ oam g
- =R ST T B 9 ST W ey

his death - - ggamar? :
(1) Karaikal Ammaiyar and Gangasati m W@W PR 3R T
(2) Ladbai and Meera (2) erears 3R ARy
(3) Padmavati and Sursuri SRR iR g
(4) Andal and Janabai (4) 3icTe 3R TS
(5) Question not attempted (5) argaRa e |
16. The 'Samiti' for the Jain Monks 'mot to do 16 q o & el @& R e ERT R A e
violence through food!' is called - T W FEar & —
(1) Bhasha samiti (2) Aishna samiti . (1) ¥myy “ﬁfﬁ}q ' V(_krwn SR
(3) Irya samiti (4) Vyutsarg samiti =4 (3)
(5) I(;flestion not attempted wﬁ. (5) mm L i
17. The word “Mansab” was derived from which  17. - HTHT" Weg ) IRy ﬁFﬂ T @ g 2
language? : _
(1) Arabic (2) Urdu E;: :_:ﬁ T
(3) Persian (4) Hebrew () feg,
(5) Question not attempted . 3) I7IRT yom : |
18. The book of Gupta perlod ‘Romaka Slddhanta 18. W’f T o Ry i o -
was related to - ; 1
(1) Mathematics 2 ASUO.“‘”“_Y | :3: gﬁﬁ i
(3) Technology (4) Religion i 4) enf 9
(5) Question not attempted STRT wey
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19. ' Who among the following were associated to the

establishment of the revolutionary organisation
‘Anushilan Samiti’ in Bengal? -
(i) Barindra Kumar Ghosh

(i) Bhupendra Datta

(iii) Khudiram Bose

(iv) Prafulla Chaki

Select the correct code -

Code - .

(1) Only (i) and (ii)

(2) All (1), (ii), (iii) and (iv)

(3) Only (iii) and (iv)

(4) Only (i), (ii) and (iii)

(5) Question not attempted

‘Barakar’ is a tributary of - _

(1) Satluj River (2) Yamuna River o
(3) Mahananda River  (4) Damodar River

(5) Question not attempted

20.

21. The ‘Israna Hills’ are located at -

(1) Karauli - Sawai MadhOpur
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19. ﬁmﬁﬂ@aﬁﬁaﬁﬂaﬂmﬁaﬂm

(1) @ad (i) 9 (ii)
(2 ), Gi), (i) T (iv)
A B (iii) T (iv)

(4) ®aa (i), (i) T (i) -
(5) argaRa we

20. ‘qRIBY UH HED T4l & —
() gaarst T A (2) T & DY
' (3) HETET TG B Mmﬁ-« T4 B
(8) srgailRa weA

21. ‘gowrT UsReAl sraRer § —
(1) Btell — wars ArgR

(2) Sikar - Jhunjhunu (2) W — T3
(3) Jalore - Sanchore ABPTER — iR
(4) Rajsamand - Udaipur (4) ITTETE — SEAR
(5) Question not attempted - (5) srRa g
22. “Tropical-wet evergreen forésts”, are mostly 22 SeTpfeET—ang WINER T, ARG fr =
found in which part of India? H 9 frg 9T ¥ affeaR 9’ o 27
(1) Central Part (2) South-East (1) =& 91T A= E@WI—T;? Te.
(3) North-East (4) North-West Ty () ST (4) SaR—uf¥amy,
(5) Question not attempted STon (5) 3rgaRa ue )
23. Where is the ‘Instrumentation Ltd.” located? 23 FEeTH fafics’ ®el sraferd 87
(1) Ajmer (2) Jaipur (1) 3R ﬂfw
(3) Kota (4) Alwar (3) PreT (4) 3reTar
(5) Question not attempted (5) argeRa U
24. The cyclonic rain that occurs in Karnataka 24. T,ﬁW g § PAled F B arel ﬂ'sh_crl‘cﬁ i
during summer is -
(1) Cherry Blossoms  (2) Kalbaisakhi uﬁﬁ?ﬁ I (2) FreT ST,
(3) Norwester (4) Mawat (3) HRaAwR (4) e
(5) Question not attempted (5) argaRa we
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25. Which of the following is an example of Shield
Volcano?

(1) Hawaiian Islands  (2) Mt. Fuji
(3) Mt. St. Helena (4) Vesuvius
(5) Question not attempted
26. The highest tides in the world occur in -
(1) Hudson Bay
(2) Bay of Fundy
(3) Bay of Bengal
(4) Mediterranean Sea

(5) Question not attempted
27. The instrument for measuring relative humidity
is -
(1) Anemometer (2) Hygrometer
(3) Aneroid barometer * (4) Hydrometer

(5) Question not attempted _
~28. 'Which among the following is/are hot winds?

(A) Foehn

(B)  Mistral

(C) Chinook

(D) Bora

~Select the correct answer from the code glven
below -

Code -

(1) (A) and (C) are correct
(2) (B) and (D) are correct
(3) Only (C) is correct .

(4) (A) and (D) are correct
(5) Question not attempted

29. Who recognized the two major layers of the -
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(5 preferfiae 3 9 e W@ YiES WA
STER 7 _ _
(1) g B (2) 7rSve i
(3) weve dT o (4) Ryl
(5) 3rgaRa ge

26. fvg ¥ WaQ VT HAE D WK AW & —
(1) gea & @ §
AT Y @ A
(3). 57T B @S F
/(@) T wR A
(5) IralRer we -
27. ifer ST Y A 3 ST & —
TR (2 s
MRS Refiex (4)%13;’@2?
(5) srgaa weA

28. ﬁwﬁrﬁéaﬁaﬁnﬁﬁ/m%ﬁ?
(A) BF—

(B) = figa

© e
(D) arTy

ﬁﬁqwmﬁﬂﬁwaﬂmﬂaﬁﬁq—

I«cﬂf(A)ﬁﬂT@ﬂﬁ% |
(2) (B) &I (D) el &
@) DgA(QFH T
@) (A) T () Wl §
- (5) argaRa wew _ |
29. HYC 9 IR B QA A 2 g W e

Earth as Crust and Substratum? Ar?
(1) Daly ~ (2) Suess . el (@) guw
(3) Pratt (4) Holmes th == OB o (@) 8=y
(5) Question not attempted (5) 3rgafRd wes
30. The average Albedo of the Earth is - 30. godt 7 aitae YRa=) '% -

(1) 35% (2) 31% (1) 35% @ 31%

(3) 47% (4) 27% (3) 47% T 27%
(5) Question not attempted (5) argaRa wew

2 ) N Page 6 of 32


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

31. Which of the following Iron and Steel Plant was 31 fymifeiRad & & @am Ae—swrd G

32.

e

set up in'collaboration with Germany?
(1) Bokaro Steel Plant

(2) Hirapur Steel Plant

(3) Rourkela Steel Plant

-(4) Bhilai Steel Plant

(5) Question not attempted

Thé ¢ Jig-saw-fit Jevidence is related with the 32

theory of -
(1) Geosyncline Theory - Kober

‘ (2) Continental Drift Theory - Wegener

33.

2%

(3) Plate Tectonics - Hess
(4) Convection Current Theory - Holmes

(5) Question not attempted

Identify the river of Rajasthan on following  33.

BIIISRGAT 3UId §IF 5
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@ AT A @fg far ar 27
(1) 9IPRY TG GIF
(2) ENTgY TR W

(4) frens swura GO
(5) srgaiRa W
ARI—RYET ga T o
Tw|WE —

(1) =ty Rigid — TR

Rrgia & W 8.

2 FerEdi favemuE Rigia — IR

(@) wre R — gax

 (4) WasT @R Rigid — By

(5) argaiRa ges <l
Prefafed Tl @ AUR TR TR @ T

- facts - Bl gBYE PIfT —
(A) It originates from Haripura Village Hills (A) TE <Y sRY g B uBIfsEl (Rtes)
(Chittorgarh). ; W ST B B .
(B) It meets ' Chambal River. near -~ (B) FE T=A o A e & U e
. Bhainsroadgarh. Ty 21 'F
Code - e — |
(1) Mez (2) Bamani - (1) A5 YT
(3) Gambhiri (4) Chakan @ e @ e
(3) Question not attempted (5) argaRa we=
- Garh, Kotri and Mangrop are mining areas of - 34. 77, P TAT TR W &F § —
(1) Magnesite " (2) China Clay (1) Frmge X () =g T
-(3) Silica Sand (4) Fire Clay 3 RaferaT O _ (4) BRIR Felx
(5) Question not attempted (5) IR weA
- The ‘Nubra Valley’ is situated in - 35. a1 WY Rerd & —
(1) Ladakh range (2) Shivalik range A TERT Aol | (2) Rraifers Aoh F
(3) Karakoram range  (4) Zaskar range (@) FrIERT Aot § (4) SR SOl i
(5) Question not attempted (8) 3rgaiRa wed
Pagr'; 7 of 3?
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a1. Which. one of the following statements is correct
regarding the Consumer Equilibrium?

(1) The slope of the indifference curve is less
than the slope of the budget line,

(2) The slope of the indifference curve is greater
than the slope of the budget line.

(3) The slope of the indifference curve is equal
to the slope of the budget line.

(4) The consumer’s valuation of the goods is
greater than the market valuation.
(5) Question not attempted

42. 1f too much money is chasing topFew goods, the
resulting inflatibn is known as <5~

(1) Stagflation i 10

(2) Demand-pull inflation =
(3) Cost-push inflation

(4) None of the above

(5) Question not attempted

=iy

ﬁ;_"'& uJ"

GETT

43. If Government imposes an excise duty on the X 43 ?Jﬁ".’ PR ¢

commodity ‘X’, then -

(1) Supply curve of commodity ‘X’ will shift to
the left.

(2) Demand curve of commodity ‘X’ will shift to
the right. _

(3) Supply curve of commodity X’ will shift to
the right.

(4) No change in demand and supply curves of
the ‘X’.

(5) Question not attempted

44. Tn which of the following situation the primary

deficit of Government Budget tends to be zero?

(1) When fiscal deficit is zero

(2) When the net interest payment is zero

(3) When revenue deficit tends to be zero

(8) When fiscal deficit is equal to interest
payment

(5) Question not attempted

" 45. Which of the following is most liquid measure of (.

money supply in India?

42uﬁa§aaﬁ$§ma§amﬂmaﬂﬁmﬂ

GET IT ON
Google Play
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YT Hel 87
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e 2| '
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(4) IR ¥ F DS L
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g Al
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TR |
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SR |
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SR
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B |

(5) IR U

a4, Py 3§ fpa aRRIR § TROR @ doic &

grIfid |reT I BII?

(1) 519 USTPIE =TeT I ©

(2) 5 g A PEE T §

' (3) 79 <ToRd HTeT LA Sl 8
mmwﬁmwmwﬁzﬁwﬁ

(5) IR W&
wﬁwgﬁmﬁmﬁﬁﬁwwm&ﬁm

MM (2) My E._". (1) Ml (2) M4
(3) M (4) M3 () M2 (4) M3
(5) IR W

(5) Question not attempted

I e

£22 . X

Page 9 of 32


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

- Which of the following statements are correct ::Iﬁﬁﬂ; e ;ﬂ;ﬁ;: Pt T:h_c' T 'G'IZITh‘IT EaG]

about Keynesian Consumption Function? Select

i i s} gAY —
correct answer using code given below - EY GiEd
(i) Monetary consumption is a stable function () Hfes Sw, Hifesw ama &1 ReR Bom
' 2|

of monetary income.

(i) Marginal Propensity to Consume (MPC) s -
positive and less than one. ' YT TP Y P Bl B .

(i) Long run MPC is more than short run (iii) EdPEE MPC, sed@i™d MPC %
MPC. : . IR B B

(iv) maﬁwmm%mm APC | §

(i) STHEAT @ HHid Fl'rﬁ”l (MPC) W

(iv) APC falls as income increases and MPC is

less than APC. 'ﬂ}'ﬂ'ﬁﬂﬁ[%l |
Code - W e - | 8
(1) (i), (i), (i1i) and (iv) are correct . (1) (i), (ii), (iii) =7 (iv) TET &
(2) Only (i) and (ii) are correct g (2) Tet (i) T (i) WEY &
(3) Only (i), (i) & (iii) are correct - (3) Bae (i), (ii) 7T (iii) & &
(4) Only (ii), (iii) and (iv) are correct - %) @aa (i), (i) I (iv) |8 E
(5) Question not attempted (5) argaiRa wea
Consider the following statements with Indian = 47 YRdra yfideg ¥ f= EWFﬁ R fgar &3 —
reference — 6. . (A). M2 =M, + 90T & U9 a1
(A). M2 =M, + Time Deposits with Banks - (B). M &) G wiifees e 0 a7 o 2
(B). M is also known as Aggmgate Monetary @ P o —
Resource.
Choose the correct option - A(A) 3R (B) T wEl E
1) Both (A) and (B) are correct (2) @39« (B) W& &
2) Only (B) is correct (3) (A) &R (B) ST Teg &
3) Both (A) and (B) are mcorrc-:t : (@) Bt (A) il 2

4) Only (A) is correct _
5).Question not attempted (5) srgafva ue

‘onsider the following statéments regarding 48 W B Waw F Fy Bl W RAUR BY —

IGNREGA - ' A.  THS! YOI 2006 H g oft |

. It was started in 2006, - B. ¥9® Ied, NREP 3R RLEGP &7 faeia
Under it, NREP and RLEGP were mcrgqj Y e T

hoose the correct option - : el ey g+ —

) Both A and B are incorrect . (1) A 3R B 2F g &

) Only A is correct . .:{é]ma,qﬂfr% '

' Both A and B are correct o S E@g’gmgﬁ@g

Only B is correct (4) Bga B UE)

Question not attempted | (5) argaRa e
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49.

50.

(i)
(iii)

e

Choose the correct option that shows —

(a) Number of Sustainable Development Goals,
(b) Year of its declaration and :

(c) Year of target-achievement

respectively from the following -

(1) 7,2000 and 2015  (2) 15, 2000 and 2015
(3) 17, 2015 and 2030 (4) 20, 2020 and 2030
(5) Question not attempted

as - .
(1) Cyclical Unemployment
(2) Hidden Unemployment
(3) Frictional Unemployment
(4) Open Unemployment

(5) Question not attempted

- Match List-I with List-II and select the correct

answer by using the code given below the lists -
List=1

Arithmetic Mean

Median

Mode

List - 11

It divides the distribution into two equal

parts. d &

It is a stable measure of Central Tendency,

It is the best representative value of the

(A)
(B)
©

(@)

series.
Code -
(1) A—(iii), B—(ii), C-(i)
(2) A—(i), B(ii), C(iii)
(3) A—(ii), B(iii), C—(i)
(4) A—(i), B~(i), C—iii)

GET IT ON
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49. oy ¥ § 99 98 Ridey &1 97 B, @

(a) 9o fasrg @edi @9 |&, 7

' (b) 3D O B T IR 2er5”

(c) ALI—TUAY qhms &
®I HHI: ST & —

(1) 7,2000 3R 2015  (2) 15,2000 3R 2015

A7, 20153132030  (4) 20, 2020 3% 2030

(5) srgRar o

Usual status of unemployment is also known 50- 3RIoml @\ Refy 48 i Feard & —

(1) T RIVTA A
(2) fod g3 o
(3) gdoITHE RG>

A Gl RS

51.

| 8

(5) sraRa 7o

-1 &1 g1 9 feE R g
R g7 F¢ o1 IWT FRA §Y WE SR F
Igq P —

T — 1

(A) THIR HEY

(B) wifemasT

(C) 9gcd

q=H - 11

ge ded @) <1 9HFE 9T A fRmford
i -

(i) IE D= whT FT JRR 99T 2|
(i) TE AN F wdNS WA g B
'a;]:"a —

(1) A—(iii), B—(ii), C—(i)

(2) A—(i), B(ii), Ciii)

(3) A—(ii), B—(iii), C(i)

()

MFA~(i), BD), C—iii)

.. (5) Question not attempted (5) IFafa weA
' 52. What will be the value of Mode in a moderately ~ 52 #ifeaa 280 3iiR #ra_310 i e G G
" asymmetrical distribution with Median 280 and 41 3 GEP DT A T B
Mean 3107 (1) 200 %{D i
{21,200 o (3) 320 (4) 290 ey
(3) 320 (4) 290 S i BN
(5) Question not attempted ¢ 20 2 =7
2 —_—
:_:;2_2 ! %30 | b Page l1of32 2 = EE’ :‘: - 1} ; i
g0 8300 suo - €20 -(Z70) ;


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

53. Suppose the primary deposit of banks is T 10,000 @
and the cash reserve ratio of Central Bank 1s
10%, statufory liquidity ratio is 25% and the
unutilised ratio of deposits with banks is 5%,
then the total deposits will be -

(1) T 15,000 (2) ¥ 20,000
(3) T 30,000 (4) 25,000
(5) Question not attempted

- As one moves upward from right to left along a
negative sloped straight line demand curve, the
value of price elasticity of demand -

54.

0

GET IT ON
Google Play

aq S f5 da @ wEfE oowfy
1000032 3R W 46 FT TP IRf
ST 10% @, Fenfie aRen 37U 25% R
sk ¥ @ g o IR BT AWLT U
5% &, 1 G o R Enlt —

(1) 15,0002 (2) 20,0007 .
(3) 30,0002 (4) 25,000%
(5) argaRa wed

16 e | G S S R e U
T A gl FWR B IR TR FA | AT F)
Eous G

(1) remains constant. 2 (1) Rer = &1

(2) first increases, then decreases. 5‘ - e (2) 9gol wedl &, R gedl 81

(3) decreases. L iﬁjﬁ (@) wesht 8

(4) increases. T v B e:.«llﬁl?.’ﬁ'[ £l

(5} Question not attempted ¥ria} (5) srgaRa weA pPQL T

55. Which of the following indicators is notincluded ~ 55. =1 % ? fFe Hods 1 ollg & Hifcrs_Tora

in the construction of Physical Quality of Life gaa&ie & famr § gfafee @ e mr &2

Tl _ . (1) Ry 9 = (2) afiy = ama

(1) Infant mortality rate (2) Per capita income

(3) Basiclitracy ~ (4) Life expectancy (3) ST TR 47 S "

(5) Question not attempted (5) srgaRa v

56. Considér the following statements — = Fumi o fdaw aY -

(A). Change in demand means a movement (A). =T 4 gftad= & anf ﬁﬂ-ﬁ'ﬂﬁ-aﬁaﬂqﬁ
‘along a given demand curve for a # gRae= @ gRemREwy R 70§t a5
mmﬂiq as a result of change in its v o o 2

! - ﬁ i
(B). ETange in quantity demanded is a shift in (B). HrY T W el ™ i Ly

the entire demand curve of a commodity
resulting from the change in the
individual's money income or tastes or
prices of other commaodities. |
Choose the correct option -
(1) Both (A) and (B) are incorrect
(2) Both (A) and (B) are correct
(3) Only (B) is correct
(4) Only (A) is correct
(5) Question not attempted

AT 9% # fads &, @ i afem )
Hifed amg o wfml a1 s ol @
Fral # gRada @ gRvmRaey g &

e e g+ —

(1) (A) 3R (B) 21 o &

@ (A) @R (B) T Y &

(3) daet (B) W 2 |

(4) daer (A) wE &

(5) argaRa g

"
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Consider the following re gt
~ Elasticity of Demand (e,) - garding  Cross  57. i ol I A (ey) B W d fr1 W

at farem &Y —
_ﬁ_[fxa.ndyamshv ; .
[ )uegaﬁ“- ubstitutes, then ey, is (A). g%m ;:Pq y WIFG B, o ey FHOMHE
s {B)'p::;uf‘v:“d y are complements, then e, is (B). Ul xaiRy @@ & ol e, vArcia ecft &
.J- ] - ‘ 3 4 i '&:
\ . _(C). If x and y are not related, then exy = 0. = :?: ;’m}' RS , o
~ Choose the correct option - b T w8 e
() Only (©)is K i
£ (1) Only correct Q4™ (1) @aat (C) wét &
~ (2) Only (A) is correct | (2) dhadt (A) T &
(3) All (A), (B) and (C) are correct (3) (A), (B) 3R (C) et wé &
() Only (B) i correct e (B) W1 ¢
~ (5) Question not attempted
\ (5) srgafta weA

88. From which of the following Amendments of the ~ 58- fwiifesa 4 ® wra & wfaurt A few wam=
- Constitution of India, the words “Internal @ g IWT 352(1) 4 ¥ “wraiE s
~ Disturbance” have been subtracted . from e ®eTd a2

- Article 352(1)? ki) qnt i oF

(1) 46™ Amendment Act 1

- ey A2 4471w SR

- (?) 44" Amendment Act e .
~ (3) 42" Amendment Act et @ 42:‘7 m ST
~ (4) 39" Amendment Act (4) 3931 W srafEE X
~ (5) Question not attempted (8) argeRRa we
9. In which of the following year, United Nations 59 frifbar # & fdm ad & wige wg A
. has adopted the ‘Millennium Development HAfay Taaglie Mew JYA?
JCoals (MDGs)t (173000 (2) 2015¢
(1) 2000 (2) 2015
| | , (3) 2020 - (4) 2001
- (3) 2020 (4) 2001
: () argafte e

~ (5) Question not attempted

i'ﬁ.ooording to Almond and Powell, which of the :ﬂrm v oida @ e, Frafafaa 3 @
_ following are the outputs of a Political System? B worfaE arawen @ fofa &

- (I) Regulative outputs () fafame fAra

~ (1) Cumulative outputs (an wed ffa

~ +(IIl) Distributive outputs () faaed ffa

- (IV) Symbolic outputs (IV) wirerers ffa

- Choose the correct option - ) frw gfa -

- (1) Only (1), (II) and (II) (1) @aa (), (1) AR (1D

~ (2) Only (11), (111) and (IV) (2) @ad (1, (1) (V)
(3) Only (1), (I11) and (IV) (3) ad (1), (1) 3 (IV)

(4 (D), (ID), (1IT) and (IV) (4) (D), (1D, (1) R (IV)

(%) Question not attempted (5) e weA

" é-!ﬁ Page 13 of 32
] L ]
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61. In which of the following ycar, the ‘United

Nations Interim Administration Mission in

, Kosovo' has been established?
| (1) 1995 (2) 1998
(3) 1997 (4) 1999

i (5) Question not attempted ve
62. Which of the following statement is not correct
I| regarding Political Theory/ldeas?
(1) Medieval political thought was wrapped up
with the dominance of Christian Theology in
intellectual life.

(2) Political Theory up to and including modem

|: period has been a textual tradition.

{3) The classical political thought is concerned
|| with the questions such as the good
l community, the obligation of citizenship.

(4) Contemporary Political Theory has been
influenced by the ‘foundationalist turn’ in

" 1970s in Political Theory.
(5) Question not attempted
63. According to Part-V Chapter 1 of the
Constitution of India, which of the following is
not included in the Executive of the Union?
(1) Prelsident |
(2) Comptroller and Auditor General
(3) Council of Ministers
(4) Attomey General

(5) Question not attempted

GET IT ON
Google Play

(&) Prerfrm 3 < fore A, YN g <

(1) 1995 (2) 1998

(3) 1997
(5) argafRa e
(82) < vl / Rram @ st fisifeea 3

A AT FUF GE T 27 '
(1) e RO R dfew e
éméaﬁmrﬁﬂ%ug?ﬂi-’;amﬁﬂﬂl
@) amyfvs e A% IR gl T e

(Eaegarer) wWawT 8 2 .
@ wetn TR fER W W,
AR @ TE W weEl § wata &)
(4) TaTel YRS Rigia 1970 @ <o ¥
wrRe Rigia § weswRe Ae @
wifad g3 &1
(5) srgaRa W
ﬂﬂﬁﬁ%ﬁﬁzm.a%m—vmla%agﬂn
W #) wewRrer § Peifed 4 ¥ @
wffer =g &7
(1) vrgafy-
AT P iR TR
" (@) g -
(4) Hgr=ITTaTéy
(5) arFafea e

@199

it

22- %
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answer regarding the Actand A '
) Constitution by using the code g”:‘f::gzl;:ri the
List-1
(Act)
ﬁﬂﬂﬁﬁlutiun (Ninety-third Amendment)
ct

Constitution (Ninety-fourth Amendment)
Act

Constitution  (Ninety-fifth Amendment)
Act

Constitution (Ninety-sixth Amendment)

Act .

List-II

(Amendment)

Amendment in Article 334

Amendment in Eighth Schedule

~ (iii) Amendment in Article 164

- (iv) Insertion of Clause (5) in Article 15

- Code-

(1) (A)(i), (B)-(iv), (C)-(i), (D)-{iii)

(@) (A)iv), (B)-(ii), (C)-(ii), (D)-(i)

(3) (A)-(iii), (B)-(ii), (C)-(iv), (D)~(i)

(4) (A)-(iv), (B)-(ii1), (C)=(1), (D)-(ii)

~ (5) Question not attempted
63. Consider the following statements regarding
- 'Mission SAGAR' -

(A) It was launched by India in 2020 to

enhance Joint Military Exercises with the

Indian Ocean region countries.

It is consonance with the India’s vision of

*Security and Growth for All in the

N Region' (SAGAR).

- Choose correct option -

(1) Both the statements'(A) and (B) are not

' correct '

" (2) Both the statements (A) and (B) are correct

~ (3) Only statement (A) is correct

(%) Only statement (B) is correct

~ (5) Question not attempted

6. Who among the following scholar argued that

~ the ‘state can only secure negative libeny,

* positive liberty is beyond the scope of the state’?

(1) John Rawls (2) Gerald C.
MacCallum

(3) Isaiah Berlin (4) C.B. Macpherson

~ (5) Question not attempted

i‘-’*.“’ Match List-l with List-Il and selecy the corect
£
Hi

(i)
- ()

~ (B)

GET IT ON
Google Play

64. 31—l @1 F@-11 A faar w2 shy skl
afr wfaur 4 fav oo amua & a9 A
faw iy @@ an wavn @ ey Wl 3a? g4 -

-1
(wfafagw)

Hfqur (farradt wamuas) sfafaas-

wfdur (awr=rddl woma-) statrus

didar (fraradt aomu«) sifafias-
wfgara (foarraat sama=) stafaas

-1 |

(¥remer)

sl 334 H HImA

Fredt SEFA 8 FIUH T8 L

ST 164 3 HIMA 0 -

gl 15 8 @8 (5) F A W

ﬂE _—
(1) (AkLii), (B)-(iv), (C)-t1), (D)tins)

SASFTA)-(iv), (B)-Liii), (Cri). (D)

(3) (A)-(iid), (B)-(i1), (Cr-t1v), (D)-t1)

(A)
(B)
(€
(D)

(i)
(ii)
(ini)

:- %‘ (8) (ALLiv), (B)-in). (Ch-1), (D)-(m1)

(5) arafea we
65. ‘fiygre W W WA feerat&a e W
fagr #foe — )

(A) %3 HRa g1 fes PR A @ SmM @
e WA G0 a2 @ 2000
H g fan ran ey

(B)' Ue wRa & giedis & A wh @ fav
e o faee (@) @ sy 8

weél e gia —

(1) @A (A) 3 (B) 711 H o @

A A (A) i (B ET W @

(3 F3a FUA (AT B

(4) ¥Id FUa (B) A &

(5) sy we

fasifafaa Rar 7 D ey ug a3 Bo @
R Gidel AGRIEE EqA-4A1 $1 @0 & HEa
2, WS WA U B 2 A ey 27

(1) S e () e @ Awdan
(3) gamare afds (4) W& AaFyria
(5) srgafa we

. -
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67. Consider the following steps of Scientific
Theory Building Process -

)
(ii)
(iii)
(iv)

Hypotheses
Classification of data
Verification
Generalisation

Arrange the above steps in correct order -
(M) (), Gii), (i), Gv) (@) (@), (i), (i), (iv)
(3) (iv). (i), (i), ) (@) (v, (i), (i), (1)
(5) Question not attempted
€8. Which of the following countries are not
included in ‘_BQ’M Economic Corridor?

(I
(1)
(1)
(Iv)

Bhutan
China
Maldives
Bangladesh

Choose the correct option -

(1) Only (T) and (1)  (2) Only (IIT) and (IV)
(3) Only () and (IT)  (4) Only (II) and (IIT)
(5) Question not attempted

69. Match the List-I with List-TI -

Eié (D

(1)

o
av)

(a)
(b)
(c)
(d)

List-1

(Committees of Constituent Assembly)
Union Power Committee

Committee on Fundamental Rights and
Minorities

Order of Business Committee

Drafting Committee

List.II

(Chairmen of the Committee)

B.R. Ambedkar

J.L. Nehru

K.M. Munshi

Vallabhbhai Patel

Code -

(M I-

(c), II<(b), I-(d), IV-(a)

(2) 1-(b), I1-(c), TTI-(d), TV-(a)

(3) 1-(d), II-(b), TMI-(c), IV-(a)

(4) 1-(b), L-(d), MI-(c), IV-(a)

(5) Question not attempted

70. In which of the following year India-Sri Lanka

Free Trade Agreement came into force?

(1) 2009 (2) 1998
(3) 2000 (4) 2005
(5) Question not attempted

GET IT ON
Google Play

() e

iy @l @ TR

(iii) e |

iv) TR ;1

;ﬂm RVl Y EELEE maﬁema%‘n%m -
) ), G, i), () AT, @D, (D, @)
@) Giv), Gi), i), () (@) (i), (i), G, )

wE fawea g —
(1) Fa@ () AR (1) A2Y Faet (1) 3R (IV)
(3) Faat (1) AR () (4) Fae (1) R (110)
(5) srgeila ¥ "
69. i1 @1 e -1 & P —
|

-
(sfaer s 31 afferd)
(h v v afaf
(I HA JRFR @ IS
(Ill) =/ Fare

(IV) wisyg afifa
-1
(i & are)
@ @Ir i -4

(b) WY TEE
(c) @A i
(d) Toor W
aglf s
(1) I-(c), 11-(b), I1I-(d), TV-(a)
(2) I-(b), 11-(¢), IMI-(d), IV-(a)
(3) I-(d), TI-(b), I1I-(c), IV-(a)
AT 1-(b), 11-(d), IL-(c), IV-(a)

@{sn FgaRa yw
ARA—Sied a0 @R wegiar ettt |
dfewad ampgar? 0

(1 2009 (2) 1998

(3) 2000 (4) 2005

(5) srgeilRa weA

22 -
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\71. Consider the following statements about @Hﬁﬁﬂﬁﬂdi g @ 4y 8 Pefetian e

Procedural Justice - faarr dfae —

() The notion of Procedural Justice (1 wfdarss = §1 uR, HERAAS @
corresponds  to  the philosophy of e @ e 2l
Socialism.

(I U AR s & fawsn @ wea
(I It treats the rules of Market Economy as — S
w# fasen gfa -

Zit ) daa FgA () ad 2

e (2) daa wa (1) e 2

(3) @er (1) 3h2 (1) & w8

the model rules of human behaviour.,
Choose the correct option -
(1) Only statement (II) is correct
(2) Only statement (1) is correct

(3) Both the statements (I) and (1) are correct

(4) Both the statements (1) and (1) are not correct (&) A (1) 3 (1) S 1 a8 B
. (5) Question not utlemptled (5) arefta we
. '; 72. Who among the following scholars considered @ﬁ{r—‘[ﬁqﬁm gt # @ fae o= e
:; -:z liberty and equality as ‘Complementary < B S R H
I g mapee () smuE T

(D R.H. Tawney () UET s

(I) F.A.Hayek Sy @d Awd
B. M 2
(T11) C.B. Macpherson (V) o F@faa

(IV) A.D. Tocqueville a8 P 31 SR —
(1) ad (1 3 (a8

(2) Haa (1) 3 (V) wdl &

(3 @aa (1. (1) 3 () T #
() dac (D, (1D 3R (V) &8 8

Choose the correct option -

(1) Only (I) and (I1I) are correct

(2) Only (11) and (1V) are correct

(3) Only (1), (II) and (111) are correct
(4) Only (1), (111) and (IV) are correct

~ * (5) Question not attempted (5) it wet
73. Who among the following considers Political (73) fr=tifea @ @Y worEdfy [Asr @ Wi g
Science as a ‘study of influence and influenced™? wifda @ @1 anaEs Wi B
(1) Max Weber (2) H. Lasswell (1) Az AR (2) va. diudd
(3) Richard Bellamy  (4) Steven Lukes (3) Rad aanh (4) & R
(5) Question not attempled (5) sl we
22 - Page 17 of 32
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T4. Consider the following statements regarding the

Security Council of United Nations - _

(I}  The decisions of the Security Council on
procedural matters shall be made by an
affirmative vote of nine members,
including the concurring vote of the five
Permanent Members of the Security
Council.

On all other matters, the decisions of the
- Security Council shall be made by an

affirmative vote of nine members.
Choose the correct option -

(I

"htd L

GET IT ON
Google Play

4 Hqm S @ Gl e @ mﬁ-ﬁi
Preferfaa Tt o fRaR X —
mmmwme

(D
fcfa =t wewll @ WORIT® 7§ f
oo, Rred geen oRYT @ Ui vy
wewi @ wenfa wa W wffem 8
) 3 Tl AE R, g IREE B fg
A wewll @ weRTE A9 ¥ o
w8 feen g -
(1) wo (1) 7@ (1) QT w78 E

(1) Both the statements (I) and (II) are not correc e (2 I A (I 981 &

(2) Only statement (I1) is correct

(3) Only statement (I) is correct

(%) Both the statements (I) and (II) are correct
(5) Question not attempted

75 ‘Which of the following subjects are included in

the State List of the Constitution of India?
(I)  Insurance

(II) Capitation taxes

(III) Fisheries

(IV) Economic and Social Planning
Choose the correct option -

(1) Only (I) and (I1)

(2) Only (II) and (111)

(3) (D), (11, (1IT) and (TV)

(4) Only (Im), (111) and (1V)

(5) Question not attempted

76- Who among the following is author of the book
‘Capitalism and Freedom'?
{1) J. Macpherson (2) Isaiah Berlin
(3) Milton Friedman  (4) R.H. Tawney
(8) Question not attempted

77. Who stated that “religion is so universal,
permanent and pervasive in human society that
we cannot understand society without clearly
understanding religion™?

(1) B. Malinowski (2) E.B. Tylor

(3) A.R. Radcliffe (9) K. Davis
Brown

(5) Question not attempted

(3) Bad T () TS &
AT T (1) T () 2w S

'[ﬂﬂﬂﬁﬁﬁﬁ-‘l

F=fafan & 3 o9 Rvg v & wfam &
=4 g4 A ufaferg &7

(D &

(I vRrafem s

(1) =rfeeas

(IV) anfd® sk amfae oo
W fawey &1 977 Hfdw —
(1) @9a (1) iw (1)

(2) S3e (1) six (D)

&) 0, (W, (1D 3R (1v)

| AFaE (I, (1) 3R (1V)

75.

(5) aFgaRa we=
(B Pt # @ o dfefm ws e
I/ & oGP 87
(1) Q. ApHe (2) sumare afels
@) feeT W () sgm, <
(5) argaRa W

77. 7% s ou & f ﬁmmﬁaﬁsﬁm
AT, w1 @me # fF ol 37 we
;qﬁmﬁﬁmmmmﬁﬁmﬂaﬁ

3
M@ afeaed AFH, oo
(3) vom. Sfiers ameq (93 :a*.‘:aﬂ
(5) srqaifta wes

22 - W
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\_33- What is the name of the book written by Herben

Spencer which is the first work of sociological
analysis?

A (1) Elements of Sociology
'(2) The Principles of Sociology
(3) A Handbook of Sociology
(4) Sociology
(5) Question not attempted
- Who believed that social classes are a
charactenistic feature of industrial societies?
(1) Yogesh Atal (2) M.S.A. Rao
(3) S.F. Nadel (4) T.B. Bottomore
(5) Question not artempted

Who the following sociologists
considered sociology as a . science that

systematically studies and explain overall
perspective of society?

(1) H.W. Odum (2) P. Gisbert
' (3 FH.Giddings (4 L.F. Ward
(5) Question not attempted

- In structural terms, who has explained castes as
“hereditarily specialised and hierarchically
arranged groups”, while as a system, he has

among

referred 1o its three characteristics: hierarchy,
hereditary specialisation and repulsion?

(1) S.N. Dasgupta (2) M.S. Gore

(3) B.R. Chauhan (4) C. Bougle

(5) Question not attempted

'82. Who has analysed the functions of caste at two
levels - ritual and ideology?
(1) M.N. Srinivas (2) Narmadeshwar
Prasad
(3) R.K. Mukherjee  (4) D.N. Majumdar
(5) Question not attempted
83. Who has said *Primary groups are the nursery of
human nature’?
(1) C.H. Cooley (2) Emile Durkheim
(3) Auguste Comte (9 GH. Mead
(5) Question not attempted

[

GET IT ON
Google Play

78. ywroraedta fazanm @A e yus pla edd
=T g ferdt wé s ar am A @7
(1) vefrieea aifw b
A2 = fafue sifw anfamdid
(3) v gvgqa aff ATt
(4) Tfarareish
(5) srgafta we
. wg feaa arrn ¢ f6 wpnfae ad afne
warat & wiftfse e 87

(1) Frn wed (2) viyan
@) vaus e AMTAad denn
(5) srpafta e

e # A feu ETATTED] A el A
G @ WAU W@EY @ pEdEg ST ta
e & aren e s &7

(1) Ta sy, HeH (2) & foaaad »
@ upen Az (9) gAUE @iy
() argafia WA

81. wigaTIE gfte B, faee anfod @ e
v A fAfre sk geEpfas e @ aniEm
R B w9 A FqEEE L wafd e vl @

U N A gadl O Anws § 9 S

fem & gergms, dwgma fadwemmn o
ufdrar?

(1) QgL qraTen (2) gEyETIR

CRFAN IR, Ner (4 . &ra

(5) argafda we

82. wifa @ gl ® e 21 W — Wi
Jwftes w fvafa fm 2?2
e Sifam (2) HATER wE
(3) s, yadll (4) 1A WS
(5) arpaiia W
83. gy IR WAE WA @1 Q@ () &
e fm we @2
(U Hya -
(3) s WY
(5) arpafia weA

(2) ofa gedine
(4) Shgm Ars

e
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ﬂ.ﬁqﬁ%ﬁﬁﬁﬁwm |

"84, Qut of the following which is not an important | gL 27
source of social change? VHTHEWTEE FELE (2) G |
(1) Integration  (2) Discovery s QIR timas ;
(3) Invention (4) Diffusion : (3) anfaen Em :
(5) Question not attempted (5) IR

; frer % @ B Ay
8. Which of the following according to Yogendra 85+ A= g @ aﬂ;ﬁ ;
Singh is not a cause of change in the Caste aeen ¥ gREdH HRVT FELE

System? (1) s () F[Tr?ﬁ-ﬂ'ﬂl
(1) Modemnization (2) Urbanisation @) et ) PR
::; Indust.rializatiun : :}Privaﬂzatinn ) ‘,TFI
estion not attem e
86. WcQ:an know that :;cinlogy is a scientific  86. TAH. WA g1 RY T AR figa @ AmR
subject based on the four points given by W A WM 9&d & & QI @ m
H.M. Johnson. Which of the following point is .. _i.:ﬁﬂ?:[ ¢ | P=fifaa § & @ fdg
not one of them? e _,:E@_jﬂ_?_? .
(1) Cumulative~— (2) Theoretical—~ 1) Hadt (2) Rrgieg
(3) Empirical ~ (4) Ethical (3) erpyart3m C A AR
(5) Question not attempted (5) s v

87- Which of the following is not one of the 87- fy=r § % @iy TG S Ul mj Eol
measures for eradicating poverty or at least T FE 99 A 9 FA P U A A

reducing it significantly? Tdl &2
(1) Distributive justice (1) faazor =g
(2) Land-manratic (2) Y=g s
(3) Creating employment (3) ISR o
(4) Flow of black money APl T BT gaTE
(5) Question not attempted (5) srgafRa wem
88. In the Purushartha’ System of Hinduism, which 8. fog et @1 gourl axawer ¥, R gt @)
Purushartha is considered as the ultimate goal? afes weg AFr 1T 27
(1) Dharma (2) Moksha (1) e A2 ey
(3) Artha ) (4) Kama ] (3) apef (4) 9
(5) Question not attempted ' ' (5) FaRa e

89- In ancient times, what was it called when a 89, T W ¥, ORAR ¥ iy @ gt @
woman was allowed to have sexual relations i B 9 oy @ s fad s 9oy B

with a man other than her husband for the mﬂammmaﬁmﬁw
purpose of procreation in the family? FET AET oO1°
(1) Incest (2) Tali sanskar (1) FFetfinmas (2) et HvdR
(3) Niyog (3) Kareva o A PR (4) wyar
(5) Question not attempted ' (5) s gafa wem E
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'80. Who defined society as a system of usages and
procedures, of authority and mutual aid, of many

groupings and divisions, of controls of human
behaviour and of liberties?

(1) M. Ginsberg (2) Maclver and Page
(3) John F. Cuber (4) FH. Giddings
(5) Question not attempted

91. Which of the following is not a test for HIV?
(1) Westem Blot (2) Widal test

(3) RLP.A. (4) ELISA

(5) Question not attempted

GET IT ON
Google Play

80. fargr it @ ufdi a4 5Y wEl & b
g yonfarm ga dfam, sy 1d wreauf e

e —

ETTI, 3T Al v afra ey e Qe
& Pyl od waEapt @ e 8

~ 92. Who is the author of the book “Ending @‘Qﬁ%ﬂ T B9 ¢ Fd w9 gfrear qEd

Corruption: How to Clean Up India™?

(1) N. Vital {2) K.S. Mathur
' (3) S.Kohli (4) P.C. Choudhary

(5) Question not attempted

- 93. Suppose, there is a businessman, being a
" businessman he _comes in contact with
L  customers, agents, income tax officers and trade
unions. The role pattern in dealing with all these,

s called ......cooovevcinnnnsins . ,
- (1) Role conflict (2) Status sequence
. ﬁ (3) Role set (4) Status set

(5) Question not attempted

s 94. Out of the following which concept refers to the
. critical eye on the world, which observes every

social phenomenon in a larger social context?
(1) Social Research

~ (2) Sociological Perspective

~ (3) Social Survey

~ () Social Theory

) Question not attempted

" communalism - Assimilationist, Welfarist,
Retreatist, Retaliatory, Separatist, Secessionist?
(1) Ram Ahuja (2) T.K. Oommen

(3) Yogendra Singh  (4) G.R. Madan

(5) Question not attempted

a
-

(1) ga. firai AZPfiargay v
(3) wits1 U, 9Yad (4) v wa fafse
(5) argefa wE
@- frey # @ @R gasg AL (HIV) @1 Tie Gl [

27
(1) 3&A «ie (2) faga 2%
(3) R3S AT (4) uferan
(5) srgafa we
& qad DA &7

jib: (1) 7. faeea (2) & HY?

< (3) T, Treeh @ Gz e

(5) araifa we

93. wr Aferd, Ud a@mard & 98 @kl € @ A
urEdl Uorel, wdR faariial e e
gfre & wad A 31§ | HA§ qEA WaER
F4 § W v T @1 wfase Boge
.............................. FEARN € |

(1) sfforar wEd < (2) ufrafa y
{3 3o wfame (4) ufverfa wicwra
(5) argaiRa weA

o4, fy=afafga | @dl @ glauw W
STATTIS gite &) wega e &, e g
ASE Sue @ UE aud amiie qed 8
@ arn &7
(1) mrnfars o

2 THTTE it
(3) wenfae w3
(4) wonfers fagia
(5) argaia wE

95, Who has suggested the following dimensions of (85) wivefwen @ Prafafaa smam @ 5

frm Ra - welatemed),  HenvEE),
ufteh, wfreinard), sEmaard), gaEuanE)?
(1) I 3 (2) Q. 3

(3) ur= e (4) SILAM. 7ETA

(5) srpuf¥a wE

e ——
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96. Who was not the member of First Administrative
Reforms Commission of India?
(1) K. Hanumanthaiah (2) V. Ramchandran
(3) G.S. Pathak (4) Harish Chandra
Mathur
(5) Question not attempted
97. Which of the following is not a principle of
scientific management?
(1) Use of Science rather than Rule of Thumb
; (2) Harmony rather than discord
(3) Individualism rather than cooperation
(4) Maximum production rather than limited
production
(5) Question not attempted
98. Which Report of the Second Administrative
Reforms Commission is named as ‘Ethics in
Governance’?
(1) Fourth Report
(3) Second Report (4) Seventh Report
(3) Question not attempted
- Among the following views regarding the nature
of Public Administration which view was

- Eik () et s
(2) Tenth Report

GET IT ON
Google Play

96. 9 WA T T gemai® HER Gmfmaﬂ
wew Rl 917
(1) &. EgE<E
(3) .0H. UIE
(5) AFTIRT e

07. fymiferfad § | Pia 5D T BT Rigrs
e |
() 3R & fram @ W ® B9 371 9wy
(2) god & e W A
A agaiiar @ I W afddrs

(4) i SR @ WF W ARSaH IR
(5) egaRa ve

98. fa<frg wmafie JIR AT F B whdes
T A A ARwar 87

{2) gval wfoagT
() gErT uftdEs A4 Tt R
(5) 3R e

%. fiw ymET B WP @ wHf § e
giewel 4 ¥ frw e wed

, YHA=A
(8) w01 T R

I supported, by Pfiffner, F.M. Marx - and Tel.El ®ge W e g @1 el fear
L.D. White? T 87
' (1) Managerial view  (2) POCCOC view T gfea (2) v giedr A
(3) Integral view (4) Modern view AT gReBT () AP gRem
(5) Question not attempted (5) IgulRe ye :
100- Who among the following was appointed as first ~ 100. AN B dfRER A, 2005 & wauEi @
Chief Information Commissioner of India under Iwrra Freifea § ¥ 5 wRE 37 2l Rl
‘ ;h[;} S?Qﬂsiuns of Right to Information Act, wﬁ:ﬂﬂﬁ faray wrar?
| () OP.Kejriwal (2 AN. Tiwari O AR, G @) g, frard
| (3) Wajahat Habibullah (4) M.M. Ansari &) somea sdrgene 4y, s
(5) Question not attempted (B) SR e
101. How many reports were submitted by Firt 10V.9Rq & wom gumrafye TR AT A
Administrative Reforms Commission of India? ufedgs e 5 o
(1) Fifteen (2) Eighteen () gg 2) AzRE
(3) Ten (4) Twenty @) =g S
(5) Question not attempted O p— !
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e \ hich of the fullnwmg 1S not cory
Lokpal and Lokayukta Act, 20137
: { 1} Former Prime Minister i in is Junisdiction,

(2) It will complete the Investigation iy
¥ 6 months.

€Ct regarding

31 It will consist of Chairman, & 8 members,
} 5 of these will be Judicig) members,

(_5] Question not attempted

Nhich of the following is not

proposition of Human Relations Approach?

the main

GET IT ON
Google Play

102. Spyrer G4 cirrga i, 2013 @ Hed H
i i B T 1 O e
() gd weneA gad AAfaPER q &~

2V U% 6 W& | wrh W BT |-

(3) 3ad d TARA aAl 8§ WEH B |-
@) g3 | 5 =nfaw waw |-
(5) rgARa we

103. fymy & 37 T 9FER™ ey IUETH @
EEGICIC R

(1) arfHRw-

(2) Personal interest of employees (2) wwenfar o fAsh f2a
(3) Individual difference A3rafdang aax
(4) Informal organisation of employees () HHmfE &1 FHTmRe Hed
[5] Question not attempted (5) aeifee WA

is known as the forerunner of 104.%wSH @ WG WAER FREHT F G 8
‘Human Behaviour Approach’ of organisation? w1 o 27
(1) Elton Mayo (2) Herbert Simon :_'1;::"’- AN Teen (2) gdd w1gT
ia} Mary Parker Follet (4) Chester Barnard (3) §8 wrdHr WA (4) o¥ex qATs
(5) Question rot attemped . (5) aafa v

‘Zonc of Indifference’?
(1) M.P. Follet
(3) Chester Barnard

(2) Elton Mayo _
{(4) Herbert Sumon

o among the following is associated with tha;_%‘mﬁ-

feffad 8§ ¥ ®9 9SKEG @ a3 R,
TR 87 '

(1) T Wi (2) et Hal
AST IR aHIS (3) gl aEHIY
(5) arqaiRd we

106. 2= didier A [ sfenfis Iumn 6 GAE
fararall &) fer waEl § dfer &7

@38 M9 @8
45 376 s

(51 Question not atiempted (5) arRa e

107 'Wha is the onginator of the idea of 107.f&w f:;T A Ifa-9E g5 _[QEr @
LRG| H

Pohtlcs Administration dichotomy?

“) W.E. Willoughby ~ (2) Woodrow Wilson () T uw. Red g fawm

{31 Mary Parker Follet () Henri Fayol (3) % AR wee (@) & oA

(5) Question not attempted (5) argaRa W

s
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108. The Third Minnowbrook Conference Was

organised in 2008 which had the theme — ‘Public .

Administration of Future, Public Management of
Future & Public Services of Future’. Who
presided this conference? |
(1) Vincent Ostrom  (2) William A.
Niskanen

(3) Rosemary O'Leary (4) L.D. White
(3) Question not attempted

109. Under the provisions of Lokpal and Lokayukta
Act, 2013, how many members are required in
the Selection Committee for ‘appointment of
Lokpal?
(1) One Chairman and Two members
(2) One Chairman and Five members
(3) One Chairman and Three members
(3) One Chairman and Four members
(5) Question not attempted

110. Who wrote the book “Public Administration in a
Time of Turbulence™? "
(1) Osborne & Gaebler (2) D. Waldo
(3) Frank Marini (4) Christopher Hood
(5) Question not attempted

111.“A decision making is the selection of one’

behaviour alternative from two or more possible
alternatives™. This statement was given by -

(1) Herbert Simon
(3) J.C. Glover (4) George R Terry
(5) Question not attempted

112 Which of the following is the correct sequence
of the communication process? :

(2) Lundberg S e

GET IT ON
Google Play

FiaEa 6 2008 H 3Ry
m?ﬁﬁ;‘?_mﬂwm._mi
1mwﬁqﬁmaﬂ?ﬂfﬁ@ﬁ'?ﬂl
(2) RfeT™ T frepy,
{4) TSl @1ee

Ty

(1) v s Td < e
) vw onzer v v wew LV
iy el W@ A w7
() TF oems Td AR WEH

(5) araRa w :
110. “ufis TSRFRRETA §7 T <R 3 efomy
gwad fher fordl?
(1) s 7 HaeR A2 EL et
(3) e =Rl (4) eI T
(5) argaRa weA

Mg a1 1 9 e wa faweal § & 5 oo
Rl fFer &7 g9 o 8 fofg w8
T sue &7

@) gosat

G U W () St o
5) sTgaRe W |

2. Fyfefgn 4 4 weiwor wfsar &1 wd @9

DIET 27

(1) Sender, Message, Receiver, Feedback,
Medium g, () TRy, W9, wreremet, wRifvar, wraw A
(2) Message, Medium, Sender, Receiver, .
Feedback . : () W&, W, W, g, wRfpa
(3) Sender, Message, Medium, Receiver, ;
Feedback ) WS, e, T, e, wRb
(4) Message, Sender, Receiver, Medium v, e 3%
] L] ¥ 4 4 -
Feedback 4 NS, e, e, s, s
(5) Question not attempted (5) a{'ﬂﬁﬁa rat
22 -
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T wee

8aphat 40 YO Meanby Uniyy o oo -
') subordinate will rece: mand’? M e & ? wHET 87
\ ; P‘ r . SERIVE u“l)‘ One Order (1 w S )
(2) Subordinate will receiye oq o ) ST BT BIA TH A A W S
' one boss. only (2) a;m B dad (F & SAfHn AR
s : I =
{ Boss Can g1ve !
-..DS g' orders 10 only ope Swbordinge A TG Badt UH snfiR @ ARW ]
(4) Boss can give only one orge; ’ | 2|
(5) Question not attempteq (@) SEnfreTd d9d Uo ARy € ol & |

ccording - ; (3) IgeilRa v
fi4-According “to the  Upanighygs, |
following four states of the sou] - there are 114, gufiyei @ s, Share 2 BT AR oy

(1) Jagrat Avastha, Vaiksit Avastha, Swappg e

Avastha, Turiya Avastha () S erawenr, A5 JERRAT, WE  HERI,
@ agml Avastha, Swapna Avastha, Sushunt; SURIEIC

Avastha, Turiya Avastha UShUpli ¥, arawer, WS ofawel, |YfkT @R,
(3) Vaikrit Avastha, Swapna Avastha, Sugh ti

| Avastha, Turiya Avastha uptt (3) dgper orgwen, W a@wRrn, gy s@en
(4) Bhootadi Avastha, Vaikrit Avastha, Swa na g

Avastha, Sushupti Avastha f (@) qef srRen, g RN, WH @,
'-.b-.- not attempted (5) ik ”Hﬁ” .

s‘_;-l_-'.t-«.ﬁr,j;-_ ]1 0; a]t:zqfn‘ﬂﬂwing staterments about the 115.32f & ¥ & iy § § F99T YT 49T 27

Vedas is ! -
(1) Yajurveda has discourses on rituals. 1) 7z § Friams A w6 2
(2) Vedas are non-human. (2) 92 aUoYa & I—

(3) 7 F‘e Vedas are full of knowledge of ’iﬁ?ﬁﬁ # B srelifes fwdl o1 99 = 2

(4) Rigveda is the most ancient.
T 5 ﬂaﬁﬁﬂ'
{5) Question not attempted e =
118.1n which philosophy, it is preached to renounce 16. 5y Wity @ fo wva wiRe g&l &1 w0
all \ orldly pleasures and lead a life of austerity Fh HAR qUT 4 a?'["ﬂ'l}?f Sige @1 SRl

pER

and detachment in order to attain salvation? fea zv= # fegr mn 27

(1) Buddhist philosophy () dg <=
(2) Charvaka philosophy (2) =vat® e
{3) Jain philosophy S T
(4) Gandhian philosophy (8) wifefy <<=

(5) Ouect: 5) argeife wed

\3) Question not attempted (

117 D ..' es’ PhllﬁSOphiCﬁ] Method for atlaining 7. HTHT, m Gﬁ'\' W @ Eﬁﬁﬂﬂ GﬁY ﬁﬁaﬁ
Certain and undisputed knowledge of Soul, God P S | o L

and World is -

(1) Dialecti (2) Intuitive AT EEE YSTS
.rg;pﬁf;“ 1 (4) Transcendental (3) FYAT® (4) svaTda
(5) 'Qu:f:Stion not attempted () e W

.:"I;—I 1;4 Page 250f 32
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el —

118. According to Kant, which one of the following 15
not included in the essential postulates 0
morality? o
(1) Immortality of the soul
(2) The ability to perform actions
(3) The existence of God
(4) Freedom of will
(5) Question not attempted

119. Socratic Method is called Dialectical because -
(1 it is a method of argument and counter-

argument.
(2) it is a method of teaching.
(3) it is a method of self-knowledge.
(4) it is a method of Question and Answer.
(5) Question not attempted

120. Of what quality or vow “Mithyopadesha™ is a
transgression (atichdra) according to Jainism?
(1) Samyak-darshana  (2) Achaurya
{(Non-stealing)
(3) Ahimsa (4) Satya (Truth)
(Non-Violence)
(5) Question not attempted
121. This is the correct interpretation of Normative
Utilitarianism -
(1) In this one’s own happiness is the only, ideal
for human actions '
(2) In this maximum happiness of maximum
people is the ideal '
(3) In this besides happiness, knowledge, truth,
virtue are also self-achievable auspicious
(9) In this happiness of others is the only ideal
for human actions
(5} Question not attempted
122. point out the correct option from below
regarding the relation of means and end with
respect to non-violence, Truth and God in the
Ethics of Gandhi -

Non-Violence | Truth | God
(1) means means end
(2) means end end
(3) end means end
(4) end end means
(1)1 (2) 2
(3) 3 (4) 4

(5) Question not attempted

e '

GET IT ON
Google Play

s i zﬁ;‘ﬁ% s R T &
_f e IR
{2175‘1 F B AT
{3}%‘26?@'3“%3“&'
{4}¢iﬁﬂaﬂw :

(5) argeiRd ¥
o R, TG T FECe PE W

(5) argaRa WE
120. 37 < B ITAR '|ﬁﬁr1|qa5|'ﬁ‘“‘1“mﬂﬂ
ma‘&qﬂ'ﬂﬁ?
(1) g
(3) sifeer
(5) argaRa T
121. yreeiged SUAMTarE 1 HEL AR 8 —
(1) 530t w9 &1 g & W B B BT TEH
@ e afel @ S ga 4
ameet 8 : '
@) 3o g @ fRe s, W, w4
¥ ARy I 8 :
(4) 389 TR 1 GG 8 47D D FH BT @A
gyl 8 s

(5) raia we .
122.37fy & Hfoemes F s, v ok SR @
=i H rg-9ma @ wey By gar adl

(2) ardrg
|

Freiferiaa & 3 w8t Ries T —

Sifear Rl R

(1) WA A —

(@) | g e

(3] HeD 'H]'EF[- Heq”

(4) e Hreg e
Ur 1 @2
A3 @ 4

() srgeRa yom

22 .\

Page 26 of 32


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

of Plactici ng

(2) S-:‘.Ilim'q:nnmr.:m.3 it

tion not attempted

':é'th‘: meaning of “Samyak

Yayamg"

ermi nation to follow the path of 1y,
_|_y-dl of ]'Il],nd

orts for the creation of Auspiciousness and
uan of evil

oYe -De:terrcnt Theory

nouun is expressed in the Nasadiya-Sikta
of the ng-Vﬁda"
(1) P: elsm (2) Theism
1) Att {4) Monism

; fa_tmnent is false in the context of Mill’s
1 nism?

(1)'Along with quantitative difference, there is
q ; itative difference in happiness.
(2 The  auspiciousness of an
de "" by the happiness resulting from

iness is the basic purpose of all human
W “" is only quantitative difference in

hap ml:ss
(8) O

GET IT ON
Google Play

123‘ﬁwﬁ$mmgmuﬁmﬂmﬁ?

() vy st (2) v ¥ gOR
() e A4y AT
©) srgafea w1
4.3z Afvere 3 SRR WS arad & @
g 87
(1) gt s
() v Wi R T &7 gy
A o & v
(@) 7 3 Sty ol o & P ¥ WA
() argeRa s
1B.3vg @1 B figr ae-fasrEr. @
RV 4T Smfa #7
(1) e yhrme fgr
@) sferes frgr R wfikures fiera
&l
(8) P gurard frgra
() g9 wfers g
(5) rgeifa wed
126. 797 & AT I W SR URV e
R |
(1) wdvavarg (2) d¥avarE
() sfreaars A8) TEeaTe
(8) arfaRa we

127.ffg @ SuydifiarEre @ el ¥ Sl &9

action is i

(3) 7@ & 7 ) WA WA T A WA
l
AN # e SRS W e 81

(8) oraRa W
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GET IT ON
Google Play

() g ot ¥4 8 AR i,
128. ‘Neti-Neti’ is used in the context of ‘Nirgund arar &, il 8 f& —

Brahman', which indicates that- . e Fe Rwg® T BT v &

(A) this is a negation of the qualities relat (‘;; - A g TIaT &1 gy 2
to Brahman ( -

(B) this is the realization of the (€) 7 ol 3 @oy B HI fee g
indescribability of Brahman D) s—\qa?[ aRRufad d 2

(C) this is a Saguna explanation of the nature ( o7 T T —
of Brahman wf faaed

(D) its culmination is silence (MMATB wE €

Select the correct option - @ABAC e &

(1) A and B are correct cad ¥ o

(2) A, B and C are correct @Bd ¥

(3) B and C are correct (4 ABTD <Tel

(4} A, B and D are correct
(3) Question not attempted

(5) argaRa W |
129, w1 JGIT TEL &7

129. Wh]Ch iS not a Vﬂdiﬂga? s HIN 1 ﬁm‘[ {2} ﬁ
(1) Shiksha (2) Chhanda - (1
(3) Kalpa (4) Gania - (3) B AT
(3) Question not attempted B {5:‘.3@7{&? 1;[2;[ i wt .
130. The peaceful attitude induced. by l‘_tl'".: 130. Tl & %l El_il ' i FEAIRe S
contemplation of art is the best illustration of - FEER ‘
(1) Vijnanamaya-Kosha(2) Anandamaya-Kosha (1) s o1 o1 (2) AT E;:?r &
(3) Pranamaya-Kosha (4) Manomaya-Kosha (3) grorE FIE T A4 T Ea|
(S) Question not attempled (5) argaNG Ue T

131. Which of the following statement does not
indicate the importance of correlation in Social

Science teaching?

(1) Realization of the segregation of kﬂOWIEng@
- R

(2) Facts become easier to understand. |

(3) Provides practical application of knowledge.

(4) Reduces the burden of curriculum.
(5) Question not attempted

132. The most essential and specific quality of a

Social Science teacher is -
(1} Modemn clothing/ dressing
(2) Attractive personality
(3) Updated knowledge in subject
(4) Many higher degrees
(5) Question not attempted
133.1n relation to type of questions, which
following pair is not correct?
(1) Multiple choice - Recognition
(2) True/False - Recognition
(3) Blank completion - Recall
(4) Matching - Recall
(5) Question not attempted

131. fFfafia & 9 @A S99 e fiem
fareror 3 wEwaY @ HEW @ $FT TEL G
S & JUIHN FT ST BRI B
(2) g2 B GHIAT ATHH B ST B |
(3) S &1 ARG JHAT Y&H Heam |
(4) TrgTFal @ YR BT BH DYl ¢ |
(5) argaRa weA
132. ygs wifore s R &1 waifds amaws
3R fafdre o7 & —
(1) LHE IR
(2) amrd® wfaeg*
87 9T o7 3 I
(4) 3¥iF Teg Ui«
(5) srqiRa e -
18. 711 & yoR & Hay §, Pr=fafaa § @ S
W e #?
AN agiefens —
(2) w1 / e — yeafisne
(3) R ofd — yreregeoy
(4) fram — W
(5) SFTIRE W

of the

22 % !
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F—ﬂli e umt is an Grgaﬂlse,d

nd experience de Y of informa; _
h. tcomes of the s:f n‘*dmﬂ effeqy signiﬁ;;::: == ;Ei Sl @4: ;qw L2l wﬁﬁﬁﬁzﬁ
defin nition? * Who gaye this ﬁﬁa‘?f@r@l aﬁﬁmﬁﬁ?mlgiﬂwﬂi E’“ EI ”ug" v
. GODd (2) Weﬂ]t}' s &

_____ fomison “ Herper " 73 e

5 Qucsuoﬂ not auempmd (3) 9= @) E’ﬁ

- SO cial Science is a Subject _ (5) sgafa we
t (@) Man Which deals wip - 8. wmifee e ve e favg 2, o HaRrd
(b) Man and his relation other menp fa)_ﬁﬁﬂ Kl
() Man and his enviropmep il 3-* &) T T o vy e
{__._. the correct code - Rl BEL

3 (c) W19 U9 S9® TATav |
f {a) (b) and (c) (2) Dn]}"ﬂ]} L) @ BT U ﬁﬁq _
g‘  Only (@) and (¢) () Only () gng ®) T (a), (b) T () (2) @ae (b)

(5) Quesnun not attempteg (3) B9 (a) TF (c) (4) DI (a) T (b)
. (8) argaifRa we
{36.Which of the following is correey regarding 136, fiygureres wosll & waw o Prefafag § § I

essay type questions?

; | wel 87
(a) Opportunity to thought expression (a) faam sfvefaa 3‘:‘ SR
(b) Objectivity in evaluation

o b ¥ X

©) " Evaluation of writing skills ‘[ic: LEUEE E’Eﬁlﬁm

(d) srdraTeS T & qeEE
WEL FE H TG BIRY —

!n CHOLSSE A AL o M, @@ @OQWEE

3) (a), (b) & (c) @o&@ () (a), (b) T (c) (4) (b) @ (d)
) Question not attempted (5) arqaiRa wea

i

1 37:Under visual instructional support material, 137. 33 YIS e ARl & s fEe
1"F type of map is not included in cultural YR & qHE SEaias aEfga A afafaa
maps? T 22

(1) Political (2) Economic () T (2) afite

3) Population (4) Geological (3) ST A

(5) Question not attempted @) agaRa wer

138 "h\. mal and Informal Group Plans are the forms 138-3meR® g FHvERE wyg (Tf) oo
of hlch teaching method of Social Science? wmifaa 3= & e e fify & wg €7
(1) Brain Storming (2 Project (1) ARersp SEem (2) vrorge (waor) X
(3) Problem Solving (4 Socialized (3) e WA PR s

Recitation ) o et

(c _' _Evaluation of critical thinking
Choose the correct code -

"uestiﬁn not attempted

e 1 e
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od,

139.1n which step of Problem Solving Mmhl:tla;'.

students are led to think over for all the posst
tentative solutions of the problem?
(1) Formulation of hypothesis

(2) Analysis of information

{3) Determination of objectives

{4) Conclusion of the problem solving

{5) Question not attempted

140. Which one of the following is cofrect sequence

of Herbartian five step approach of lesson plan?
(a) Preparation

(b) Presentation

(¢) Application

(d) Evaluation

(e) Generalization

(f) Association 1 o
Choose the correct code -

(1) a,b,c, d,f (2) b,c,d, e f

(3} a, b.. C, d, € '[4) 4, b1 ft EC

(3) Question not attempted

141. Which one of the following is not a technical
characteristic of a good test? -
(1) Reliability (2) Subjectivity
(3) Discriminative (4) Validity
(5) Question not attempted

142. Drawing and locating a country on a map is
associated with which one of the following
objective? d W
(1) Recognition (2) Organization -
(3) Comprehensive (4} Skill
() Question not attempted :

143. According to Edgar Dale; which of the following

experiences?
{1) Visual symbol
(3) Exhibition
(3) Question not attempted

(1) Mustration questions
(2) Explanatory questions
(3) Recognition questions
(4) Classi fication questions

A HE BT TAA DY —
. @1] a,b,cd,f

2B, b, ¢, d e

GET IT ON
Google Play

139, g AT ﬁﬁﬁﬁﬂﬂﬁm@

e @ o il ST A
frar @%@ forg ORa far S 82 *
femior

(5) argaRRd W¥

140.qi3 AT B E&E P UAUEH Iummy

frefafied § 9 Sar € 59 27
(a) TONl ¢

(b) TEIHHRI

() [

(2) b,c,d, e, f
(4) a,b,f, e, c
(5) TR W ]
1. Fefafed § & o0 1o - ol @
gadrar fadwar [6f 82
(1) e (2) fawrafrsar
(4) Qe

(5) argaRa W "
142. qfm & el <o & R @ aifda &
f=falad 4 & fba St @ wafam 22
(1) yafasm= (2) se=
i@y (4) ey
(5) araRa we |
143. e R S B R, B H 9§ S amws

is the highest level of indirect abstract a.]Tf :.'.r:]-_'q'q‘r FT JTOa9 WX 87 -
(2) Verbal symbol {3] o
(4) Field trip () e (9.8 S
; (5) SrgafRa weH
144. According to Bloom Taxonomy, which of the 144. =M ST B R, ol 3 9§ o
folllowmg type of questions are not suitable to VAR % U HSESD &9 § SEaR S6] &
evaluate the achievement of comprehension wife Hedid S 2 #?
objective under cognitive domain? (1) ?:;Iﬁ e %
(2) =TT weE
A Tt we
(4) Tfievor ywq
(3) argaRa wes

(5) Question not attempied

22 - A \
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6. .". Df the fﬂ]lﬂl’i’l"l]‘lg IS not
S cocia al Science Unit Plannmg
- ermination of i Instruction l

ision about teaching mg,
._ _gnnl]lﬂllﬂl'l ofi mtmducmr}.
ﬂ‘rll pnsmn of sub-units
(5) Q Stion not attempteq
e oTh ". of the followj
147 ,.—j ! .. urn of Social S:ill’se ot a [-"l‘lncmle of
{ !auunsiup with Community

Componen, of

questions

uﬂr T ntahty of experience
{5) Question not attempted

.'_.b,wh]ch subjects compris

ce at secondary stage?

(1) 'stﬂr)". Geography, Sociology, Political
£ cmncc, Economics

Itnr}'. Geography, Political Science,

¢ under Social

|'d ]

e

sychology, Economics

] uman Science
'I.:HH'@ uzsl:mn not attempled

{4) Horizontal Correlation
(5) ftl uestion not attempted

U000 Social Science teaching, globes which are
only with surface areawise outlines are

! (2) Celestial globe
) Physical globe {4 Political globe

"mry Geography, Political Science,

i (4) st,ory, Geography, Civics, Economics,

GET IT ON
Google Play

1*5mﬁmﬁmﬁrﬂzﬁﬁmﬁmmmﬁﬁ '

-;:ﬁf’ (2) sererare
(3) (4) gmeiarg
(5) PEG|

V48. Prffiaa § A @ wmfore s @ 318
Ao @ U Hed AEL A2

AW URyEew IRt & R

(2) Rreror gl wadf Fota

R ywea e & A
(4) Su—g=rzal &1 =
() e

W.frfafes & @ @ar amfoe fasma @
ursEaat 31 v fhata T8 22

A X R
@ wfaieh
(3) AT
(4) arpwrafl & Fgofan
(5) sFgaRa we=

8. urgmmat ToX@n 2005 ® AN,
Wi WX W wEe fRem @ st
T fawm e 2

(2) gforema, spie, oty fasm, srlmres
() zfems, ge, woEify R, e,

@ sfE, cpie, TRE W, e,
A fagme

(5) I eRa e
149 yrfres fasr R &, wrewewg @ wgawdl
@ =1 fwdl ¥ w=fa s sEaa € —

(1) wra He—wa X

(2) TR wE—wra X

(3) oraaq WE—wEY
MYyl e

(5) arfafRa ueA
150. grfors fasm Rwor § W el

ﬁ g 'esnon not attempted
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